Graphing Parabolas
1)  Graph 

[image: image1.wmf]2

yx

=

,     
[image: image2.wmf]2

2

yx

=

,        
[image: image3.wmf]2

yx

=-

,      
[image: image4.wmf]2

2

yx

=-


by making a table of values and plotting the points.  Graph each parabola on the same axes. Use a different color or line style for each graph, and label each parabola.
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by making a table of values and plotting the points.  Graph each parabola on the same axes. Use a different color or line style for each graph, and label each parabola
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by making a table of values and plotting the points.  Graph each parabola on the same axes. Use a different color or line style for each graph, and label each parabola.
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What changes have the constant added inside the squared term made on each of the graphs?
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by making a table of values and plotting the points.  Graph each parabola on the same axes. Use a different color or line style for each graph, and label each parabola.
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What changes have the constants added both inside the squared term and outside the squared term made on each of the graphs?
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